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Edit Distance

given 2 strings : A =

"

past
"

B. =
" arts "

change A into B with a sequence of operations

each operation can be

- delete one letter

-

insert a letter

- change a letter

do as few operation as possible

Kast → a# → aft → arts.
delete p change adds
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past w
warts

string alignment
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Knapsack

bag in which you can put items

of total weight E B integer

set of items

item weight cost
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item weight cost
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(2) item n is chosen

opt : Cnt opt of choosing from items

( L
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,
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w . c ,

B) :

K (Bt 1) x Cnts ) array
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